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Practice Test - Chapter 2 (Non-Calculator Portion)

YOU MUST SHOW ALL YOUR WORK TO RECEIVE CREDIT!
Find the coordinates of the vertex for the parabola defined by the given quadratic function.
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Find the axis of symmetry of the parabola defined by the given quadratic function.
2) f(x) =-7(x- 52 -9
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Find the domain and range of the quadratic function whose graph is described.
3) The yerfex is (1, 9) and the graph opens up.

Use the vertex and intercepts to sketch the graph of the quadratic function.

4) f(x) =3(x+ 6)2 + 1 © Vereex: (— , \)
‘ 1017 @& K=K e

8T @‘!—1\‘\&‘,«\}&0\ ':33(0-\&:\1'\—\
61 =3 N A+ \
4t = VO

24 L, VO

AR FIE R R ) Acthicn) RSNTKS

4+ ' ‘

-6+

8t

-10T

5) f(x) = - 2x - 8+ x2
Elitye w1 =% ’ O Nevex
B
SN = \
ws eraty=% =5
C\, =)
D xFran-R=0O
€ —A e LY ==y
r=d RK=—L

S y—Twk
10T
H ol -2 -%

) Cke DY

AT H =D
2)

T)c;?vr\:S(“\“-(n__C:’CL‘C>C;j

3) R LA, =)

4)

5)




Determine whether the given quadratic function has a minimum value or maximum value. Then find the coordinates of
the minimum or maximum point.
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Find the x-intercepts of the polynomial function. State whether the graph crosses the x-axis, or touches the x-axis and
turns around, at each intercept.
7) f(x) = 7x2 - x3
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Determine the end behavior of the polynomial function.
8) f(x) =-6x3 - 2x2 + 3x + 2
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9) f(x) = -5x2+4x4
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Find the zeros of the polynomial function.
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Graph the polynomial function. '
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Solve the problem g _ e
14) Solve the equation 3x3 - 32x2 + 73x + 28 = 0; given that 4 is a zero. 14) %\ -3 ; A / A ’i
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15) Solve the equaton 2x3 + 3x2 - 14x - 15 = 0; given x+3 is a factor of the polynomial



Find the domain of the rational function.

8x2
)

Find the vertical asymptotes, if any, of the graph of the rational function.
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Find the horizontal asymptote, if any, of the graph of the rational function,
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Find the slant asymptote, if any, of the graph of the rational function.

2x2
23) f(x) =
) 1) 8x2 + 7
Do
24) f(x) = = - £

C..A"bc:/ *q) O
e P R BT
L, =)

16)

W £~y o)

"4
N

|+
»

18)



Graph the rational function. AL X = A\
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Solve the polynomial inequality,

28) x2 - 2x =8

Solve the rational inequality.
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Pre-Calc Name

Practice Test - Chapter 2.5 (Calculator Portion)
YOU MUST SHOW ALL YOUR WORK TO RECEIVE CREDIT!

Solve the polynomial.

1) x3-6x2+7x+2=0
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2) x4 -5x3 +28x2 - 70x - 104 =0

3)x3+7x2-16x+18=0

4) x4+ 2x3-10x2 - 14x-3 =0
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